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1HEHI5E (1254
JE L K4 FEHIZI—X ouT IN GROSS
1 B M BER WFETEE 34 37 71
2 ma B === (il 41 34 75
3T Tk BAE WFFHEM 2 E 37 39 76
3T 8 BE WFEHEE 39 37 76
5T ik AE WFFHEM L E 38 39 77
5T /J\% Hﬁf WFETEE 40 37 77
1T % /|:| LEELE 39 39 78
T HE X WFE B 39 39 78
9T HAtE B IFERSF 39 40 79
9T I L2EELE 38 41 79
9T e jF5] WFETEE 40 39 79
9T AT @k WFEH EE 39 40 79
9T AN WFFHEM L E 36 43 79
9T R ZfE y—p-IFER3F 41 38 79
9T gy XE ENF 39 40 79
9T s 5= WFFHEM L E 41 38 79
9T A IES WFETEE 40 39 79
9T ER XE B tH 37 42 79
9T INY T7 500 WFETHEZE 36 43 79
20T Fig B8Xx TV 40 40 80
20T INFR B IFERSF 41 39 80
20T LEE B A EILE 39 41 80
20T AiE E= g1l 39 41 80
20T el BUE WFETEE 41 39 80
20T IR IFERSF 37 43 80
20T E”E g A EILE 41 39 80
20T WE NFE =N 40 40 80
20T EH £ INES 44 36 80
29T AFF 8 X ERNG 40 41 81
29T TE AKX =F81U 39 42 81
20T B RE 7Y 41 40 81
20T AR Fah WFETEE 42 39 81
29T T E §A='= 7Y 41 40 81
20T KE FA y—p-IFER3F 38 43 81
29T £E 1 A EILE 41 40 81
36T KE BE &1l 40 42 82
36T W IEE WFETEE 38 44 82
36T Ha 1K WFE E& 39 43 82
36T EHE —3 IFERSF 40 42 82
36T =57 8 N 39 43 82
36T AHF B =FH/l 41 41 82
36T RE E2Z WFFHEM L E 37 45 82
36T iy ¥ WFEt E& 41 41 82
36T RER 7 IFERF 41 41 82
36T )l B%iE =FH81l 39 43 82
36T TR B y—p-IFER3F 42 40 82
36T KB # IFERF 43 39 82
36T BEER 2R3N L EILE 42 40 82
36T N R INEZ 42 40 82
36T /AR X IEER3F 39 43 82
51T A BIE WFETEE 44 39 83
51T Pk IEE 2 EILE 42 41 83
51T Kt FER WFFHEM L E 41 42 83
51T AR 1T 7Y 41 42 83
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51T 750 & BR L EILE 42 41 83
51T BE —A A=L142 39 44 83
51T T8 B WFEt E& 39 44 83
51T FE IEB WFETEE 42 41 83
51T B Bz IEER3F 37 46 83
51T WE 5 EIF 39 44 83
51T S5 JERF WFETEE 39 44 83
51T [RHE TE A ELE 42 41 83
51T Rl B A ELE 42 41 83
51T AW EX IERR3F 40 43 83
65T 7k 8 2 A AR IERR3F 44 40 84
65T T4 & L EILE 43 41 84
65T INE A EILE 41 43 84
65T =G 8= T 41 43 84
65T TNEREPA L EILE 42 42 84
65T KR Bx WFFHEM 2 E 42 42 84
65T 2H RE =FH/l 41 43 84
65T HXE =FH/l 40 44 84
65T B ZER &1l 41 43 84
74T WH IFERF 41 44 85
74T Tk m= WFFHEM L E 41 44 85
74T ARER #K =F81U 44 41 85
74T £ & =F81U 43 42 85
74T A ER L2EELE 43 42 85
74T Tl R — A 1t 44 41 85
74T EIIAX BF 43 42 85
74T XE EH VN 43 42 85
74T H F EH A=L142 41 44 85
74T HK FHak N =1=AIN; | 39 46 85
84T BEA —5h IEER3F 41 45 86
84T BEETX e 44 42 86
84T hit N 43 43 86
84T g —f& WEHZRMH L E 43 43 86
84T ¥H fEE TV 45 41 86
84T f2H 2 EILE 41 45 86
84T HH & WFFHEM 2 E 42 44 86
84T J\KR B0 A EILE 41 45 86
84T L Rk WFZHEMH AN E 43 43 86
93T {2 M 1Ei# WFHZMH A E 43 44 87
93T PN BB WFEH EE 45 42 87
93T k& 5 WFFHEMH L E 44 43 87
93T HEEX =FH81l 40 47 87
93T A H 5hig N 43 44 87
93T [RHE Yt Ao EILE 42 45 87
93T pNITRELT =F81U 42 45 87
93T )il Z=BH WFETEE 43 44 87
101T £F EE A EILE 45 43 88
1017 FTh = FHRF 42 46 88
101T BEHE IFER3F 45 43 88
101T £E AT A EILE 44 44 88
101T X¥ 1BEA IFERSF 45 43 88
101T ®_EA U= INE 42 46 88
101T KH FiE 7Y 45 43 88
108T Nk & WFETEE 42 47 89
108T AR A=L142 46 43 89
108T FE xE WFFHEMH 2 E 48 41 89
108T EARRX ERF 45 44 89
108T gk Al A=L142 45 44 89
113T FH F# WFEt E& 46 44 90
113T hlll = A EILE 44 46 90
115T EH EX 2 EILE 44 47 91
115T N R A EILE 49 42 91
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117T FEFIBCR ER WFETEE 45 47 92
1177 P IN NN 47 45 92
119T W B =FHL 48 47 95
119T FiEEHH IFERSF 48 47 95
119T XE BiE IFEREF 44 51 95
122T FHRE INES 46 50 96
1227 EH 5P 2 EILE 47 49 96
124 ) RS T 49 48 97
ZIE A Z& &1l - — -
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